Name: Score: /10 243 Section 2 - HW 14 - Due: 2/22

Problem 1

Find the length of the curve r(t) = 2cos(3t) i + 2sin(3t) j + 2t k, from t =0 to t = 7.

Problem 2

For r(t) = €' i + tan(t) j + t> k, find the unit tangent vector 7.

Problem 3

For r(t) = 2cos(3t) i + 2sin(3t) j + 2t k, find the curvature, x.
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Problem 4

For r(t) = 2cos(3t) ¢ + 2sin(3t) j + 2t k, find the principal unit normal, N.

Problem 5

For the curve r(t) = tcos(t) i +tsin(t) j+t* k, write the acceleration a in the form a = a7T 4 ay N without
finding T and N.



